Lesson |l Area Between Two Curves

Recall from Celeulus | that the definite integral has a
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In this Lesson, we want the area BETWEEN 2 curves,
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TF we caledate the area wunder each curve separately

we Pind the blue and red arecas in the two qmobél
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Looking ot these graphs e can see the gra h on the

right 3 what we “dont want. So if we Subtract s
H/T!L red area from the blue Gw‘cq,, we qf»:aL v area’
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Generally if we . to find tHe areca bahveen Hvo

curves on an interval [a b]
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With all of these or-oble:ms, vou went to draw +he

qmph corresnondlnq with the pr‘oblem If you nccdl

a_vrefresher 'on ar"’aohmq Pun ctions, refer” Yo the

A\qebm Review oosk& 3n line.
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Aqam let’s determine tHhe +0|0 and bhottorm funchons.,
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So a 1S the smaller of Vhe two values apd

b is th larqasf —
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Aquin let’s determine the JLOD

and bottem functions, T,, He
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Before, we Jnquaﬂf let’s find A and B.

« A s Hhe intersechion of y=X_and WE Ji 4 S0 sk
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them equal to each other, to find A
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Example 3 (continueed) ,

Find the vettical Iine that ciiwdes

the arem , found PY‘&V1ouéiv, in half .
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